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05 mL L~ 5il0eoR @b T «feey g ZwiEs Saase 25 0.0405°C | =S G2y 90y 24
Question: | 1.05 g mL~!|

T AR G99 (S°6 T (FIR T T o, (k;=1.86 k kg mol 1)
A: 0.8
B: 1,40
C: 1.9
D: 2.4
Topic: Chemistry-Section A
Item No: 64

%‘feSt'O” 100064

Question
Type: MCQ




40 mL 0.05 M HCl ¥ #1919 20 mL 0.1 M NH,OH NZCER! T4 | =GR pH T |

Question: (ﬁm iR ¢ Ky (NH,OH) =1 X103, log 2 = 0.30, log 3 = 0.48, log 5 = 0.69, log 7 = 0.84,
log 11 = 1.04)
A 3.2
B: 4.2
C: 5.2
D: 6.2
Topic: Chemistry-Section A
Item No: 65
Question ID: | 100065
Question MCQ
Type:
wiferet - 1 < Sifert - 11 3 157 e ¢
Siferet - 1 wiferst - 11
(A) Ny(g) +3H,(g) — 2NH,(g) I Cu
Question: (B) CO(g)+3H,(g) — CH,(g) + H,O(g) () Cu/ZnO—Cr,O4
(C) CO(g)+H,(g) = HCHO(g) () Fe,O,+K,0+AL0,
(D) CO(g) +2H,(g) — CH,OH(g) V) Ni
e eaaerl va Tes aifz Teel ¢
A (A) - (1), (B) - (IV), (C) - (I), (D) - (1)
B: (A) - (1), (B) - (D), (C) - (IV), (D) - (IIT)
c: (A) - (1), (B) - (IV), (C) - (D), (D) - (II)
D: (A) - (D), (B) - (1), (C) - (IV), (D) - (II)
Topic: Chemistry-Section A
Item No: 66
Question ID: | 100066
Question MCQ
Type:
Question: | JfRZTATTE TERGAR I [Rn] 5f146d17s2 T @Bt (Ne@ IUPAC FINRAES & -




A GlE I
B: TSN
c: TR
D: [SEGiTRI
Topic: Chemistry-Section A
Item No: 67
Question ID: 100067
Question Type: | MCQ
oAl W e (19 T /@i Qiowe 25ia SiierEial 27 |
(A) CaO
(B) FeO
Question: (C) AlO,
(D) ZnO
(E) NiO
Fxfeie fesm o 97 Tes aife Thiea ¢
A (C), (D) g
B: (A), (B), (E) 314
C: (A), (B) &
D: (B) SIig
Topic: Chemistry-Section A
Iltem No: 68
Question ID: | 100068
?;pees:tion MCQ
Question: | fRfeT TO H,0, 9 ABIRAN ARG w15te [iware e
A: Mn2+




B: Mn4 +
D: Mnt+
Topic: Chemistry-Section A
Item No: 69
Question ID: 100069
Question Type: | MCQ
Question: T YrOTes qeagd O & Y 8
A: Li<K<Na<Rb<Cs
B: Li<Na<K<Rb<Cs
C: Cs<Rb<K<Na<Li
D: Li<Na<K<Cs<Rb
Topic: Chemistry-Section A
Item No: 70
Question ID: 100070
Question Type: | MCQ
e R Tesd @ikl srowd ‘B’ © I991 Sifsfe 24 ¢
tion:
Question BE, + NaH —20K . A 4 NaF
A + NMe; — B
A: ﬂ'ﬁ]\aa_nlc 1‘2'
B: SR EA R
c: e
D: ATGE I J9MFR
Topic: Chemistry-Section A
Item No: 71
Question ID: 100071




Question Type: | MCQ

aueston: | FTg wfefae FieR v ffFare Besm @R ToRIEa @ (6 24 ¢

A A 2D

B: mﬁ

C: ARZE0

D: ey

Topic: Chemistry-Section A

Item No: 72

Question ID: 100072

Question Type: | MCQ

Question: | SIITFIF IPIRWE @1 FANE ¢

A NO

B: N02

C: 502

D: HCHO
Topic: Chemistry-Section A
Item No: 73

Question | 100073

_?;pe;tion MCQ




G5! (91 A9 X I 1Y F TS RiEare M Or N4 Siensy e ([@0El T BRoiive ‘@’ oiiE b |
‘2’ T T 2[RI Term 1 GOt o |
T
L} a+0=C—-CHy;—C—-CH;
CHj CHj |
. [ I CHj
Question: H,C=C-CH;—-C—-CHj
| CHj; CHj
s Y, b+0=C—-CH,~C—CH
CHj
X % Y TR LT -
A KMnO,/H* % &g KMnO,, 273 K
B: KMnO,(5¥), 273 K o< Kl‘u{nO4/H+
c KMnO,/H* oIi% O,, H,0/Zn
D: 0,, H,0/Zn ¥F KMnO,/H*
Topic: Chemistry-Section A
Item No: 74
Question ID: 100074
Question Type: | MCQ
RS [RiTaR wibiEers A2 orewds 25 -

OH

Aueston (i) HyC @ SO,Cl, PR

(ii) NaCN, DMF

>




CN
A: /‘t
CN
B: \/k
CN
C: f\
CN
D: T B
Topic: Chemistry-Section A
Item No: 75
Question ID: | 100075
Question
Type: MCQ
Question: | FH{#RS (6! [iFaE 2ave T ST T ST 97 AT EELRE |




£l
Cl H, H
>
Pd.BaSO,

A:
O
> (i) DIBAL-H _ H
(ii) H,O !
O
CO,C,H5
C: 2
(i) AlH(iso Bu);l} H
(ii) H,O
O
> OH (i) Na,Cr,O, H
(ii) HySO, H,O
Topic: Chemistry-Section A
Iltem No: 76
Question | 490076
Questi
T;Jpees: on MCQ
9Bl (o (151 ‘A’ T NH, 3 070 [fewa 31 7ge sfaw Sfaee1 (1ol B eal | T Aree S 51w
Question: | faat fTar (M9l C (CgHLNO,) | @151 C I &9 SR 22iRfeT KOH, @@l F 9128 WS i< (A0S
TS [iEe W @b ARNET 9z | @6 A T4 -
CHO
A:

: : CHO




CHO
COOH

COOH
COOH

CHO
OH

Topic: Chemistry-Section A
Item No: 77
Question ID: 100077
Question Type: | MCQ
Question: (B2 T2 T T Tel foawe -
H,N N NH
2 Y \"/ 2
A N + HCHO
NH,
H,oN NH
B: N N + HCHO




H,N NH,
+ HCHO

C:

NH,

NH,

//
N N + HCHO
NH,

Topic: Chemistry-Section A
Item No: 78

Question ID: 100078

Question Type: | MCQ

Question: GIERE| ﬁwcﬁ HE, GHARE foeqe (WG ar| 6@3 oifq 7

B: W@@

c St

o AR

Topic: Chemistry-Section A

Item No: 79

%fes“m 100079

Question
Type: MCQ

Question: | &lIZ1 35 TS @Ifere (2 O el fars At avin 391 =11 31! 2iferats Ft @T4@RT @[l 23|

A e[S 1eTP

B: BIGIER




C: GO NeATE

D: ERifeEa

Topic: Chemistry-Section A

Item No: 80

Questi

D00 | 100080

Questi

T;peei ion MCQ
TS 75l TfE fral 24 |

Question: SfE 1 KHSO, I517% 99 < A TRTETE TRETSI7Re 2 S I G T |
e Il Gepleie TR Wi (T iR Wi fagera Toifgfon siq=iq qita Ia2< S #ifF |
w e qife Terea ¢

A Tfe [ ©li% e 11 il % |

B: & 1 9% Sfe 11 Yl 1w |

C: U@ 1 wa 8 Ofe 11 91w |

D: U@ I oim e Ofw 11 @ |

Topic: Chemistry-Section B

Item No: 81

Question ID: 100081

Question Type: | Numeric Answer

aﬁ -G_:i Q\:’J afieTi \aﬂa_ﬁ %\:’ﬂ\ﬂ =
ion: = = 2 & = 2—

Question: N, N,™, N,7, Ny, 0,,0,7,0,7, O,
S EPY (MY Cdl eierfernzs Ayl 26

Topic: Chemistry-Section B

Item No: 82

Question

D- 100082

?ue§tion Numeric Answer

ype:




298 K © AT, (2TFIZ5 ST TI2Z2Y (oed nae WeEs] T3 TA@E —2220.0 k] mol —1, —393.5 k]

Question: | mol ~1 =% —285.8 k] mol~! | 27T (C,Hy) TR0 G #ifawtiel 2 k] mol 1|
(Fbew ore 32)
Topic: Chemistry-Section B
Iltem No: 83
Question
D 100083
Question .
Type: Numeric Answer
B! Y (5121 27°C © 519 67 4 atm | GTF TS 2AGCHIT SAS [0¢ a1 T | S (SIZBRE o bl
Question: | s x10~1 atm | (FFo®w wrde 7p)
al =R ¢ 27°C © %R oA 519 T4 0.4 atm |
Topic: Chemistry-Section B
Item No: 84
Question
D 100084
1Q_ue§tion Numeric Answer
ype:
298 K'® (&3 %7 Zn|Zn?+(aq)||Sn* *| Sn T AT T#1 0.801 V | e71 R R[iga siomrer 2's1
Question: 10_2' ATE %Qﬁ 3] 53@5 (R a@'};ﬂ \9 %@ czi=t ata ﬂa;]q FA! i,a ]
6 10 - o - 2303RT _
=iz Ezn2+|zn =—0763V, ESn”|Sn + 0.008 V 9II= —g = 0.06 V
Topic: Chemistry-Section B
Iltem No: 85
Question
D 100085
%Jpees:tion Numeric Answer
CoIR e A T RUAe=) oia SR 6 T4 240 s (AT IS (3127 519 =N1f%et 500 Torr | (IS
Question: | Bief 250 Torr wNZel, O G FIeT (oiiat TR 4.0 min | RiTRIGR T 2 | (Tres FLAT
Te)
Topic: Chemistry-Section B
Item No: 86
Question 100086

ID:




Question .
Type: Numeric Answer
fwferie «fga wibaaE @t -
[Co(NH;) >+
[CoCL(NH,)5]**
Question: | [Co(CN),J3~
[Co(NHa)5(H,0)P
GIbeT (H0a AN AT (R S, O GofeTal@ pae 14 &Ieea Wil 25 B.M. | (b
ey FH)
Topic: Chemistry-Section B
Iltem No: 87
Question
D- 100087
?ues.tion Numeric Answer
ype:
Co3+, Ti2+, V2+ Wi Cr2+ wiEe fouss, @b 1fn s 21 a<zR 41 @ #1g «fees #[t
Question: | Z2GTE 15 TR FRIE ZA | 22T IIg a9 I T (91219 SRZI 2o B.M. |
(Foey =12e 7220T)
Topic: Chemistry-Section B
Iltem No: 88
Question
D- 100088
Question .
Type: Numeric Answer
Question: | T HAGRS( 51 (54 (19 TZG Tea Faoleld s, 0.25 g (1917 21 Fofe (zat @srfat 2.5 mL
| 2MH,S0, T 7Rl e 791 & | T (TI0IS 4 G 15w I Ta |
Topic: Chemistry-Section B
Iltem No: 89
Question ID: 100089

Question Type: | Numeric Answer

S r
Question: S5 A C,HN © sp3 FHa9 4] TS FL] 2w
Topic: Chemistry-Section B
Item No: 90
Question ID: 100090




Question Type:

Numeric Answer

Question:

e B -

H
3C O

I
C-OEt O Et

CHz—fiII—CHg,
'e)
TIeud) A © e B9 7L 35

» A
(3727 TeA7)




